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F, =F,cosf=600c0s30=600(0.8) =480N

: | | — F, = 480i —300,
F,, = F,sin@ = 600sin 30 = 600(0.5) = 300N
L F, =—400] +(480i =300/ ) =480i =700/ =| 0= tan"’ %: tanl(%)

24 R? =/(480)" +(~700)> =848.8N 6 tan " (_1.45) = —55.4°
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,. =1, cos@=400cos60=400(0.5)=200N

. . = [, =200i +320;
= [, sin @ = 4005sin 60 = 400(0.8) = 320N

R =F +F, =400i +(200i +320/)=600i +320; =
R =

\/R +R? =.J(600)* +(320)° = 680N 0= tan ' (0.53) = 28°
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_ |F, =F cos@=200cos35=200(0.8)=160N  _
. . = I, =160i +120;
F, =F sin@=200s1n35=200(0.6) =120N

= F, =—75i +120;

2 .

. {sz =I,cos®=150c0s60=150(0.5)=75N

F,, =F,sin@ =150sin 60 =150(0.8) = 120N
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F+F =(160i +1207)+(=75i +120/)=85i +240; =
JRZ+R? =/(85) +(240)" =254.6N

R
R

R, 240
f=tan ' ——=tan '(—)
R. 85

X

0 =tan ' (2.82) = 70.5°
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F, =1400;
| Fy, = F, 51060 =800sm i
| F,, =1, cos0 = 800cosf

=(800sinA)i +(800cosf)j




—

R =F +F, =1400; +[(800sin #)i +(800cos ) ]=
R =(800sin #)i +(800cos & +1400); =
R = \/Rf +R? =/(800sin 6)* + (800 cos & +1400)> = 2000

(8005sin 8)* + (800 cos & +1400)> = 4000000 =

(8005sin 8)* + (800 cos &) + (1400)> +2(800 cos 8)(1400) = 4000000 =
6400005sin’ & + 640000 cos” & +1960000 + 2240000 cos & = 4000000 =

64sin” @+ 64 cos’ @ +196+224cos @ =400 =

64(sin” @ +cos’ ) +224cos@ = 400—-196 = 224 cos & = 400—196 — 64 =

224 cos@ =140 = cosl = w =0.625= 60 =cos ' 0.625=51°
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